Ua[x1_,x2 ]:=x1 + x2

ContourPlot[{Ua[x1, x2]==2, Ua[x1, x2] == 3, Ua[x1,x2] == 4},
{x1,0,5}, {x2,0,5}, ContourStyle->{Red, Red, Red},

Axes — True,

AxesLabel->{Subscript|z, 1], Subscript|z, 2]}, Frame — False]
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Ub[x1_,x2]:=x1 + 2 % x2

ContourPlot[{Ub[x1,x2] == 3, Ub[x1,x2] == 4, Ub[x1,x2] == 5},
{x1,0,5}, {x2,0,5}, ContourStyle->{Red, Red, Red},

Axes — True,

AxesLabel->{Subscript|z, 1], Subscript|z, 2]}, Frame — False]
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X1

Uc[x1-,x2_]:=x1 % x2

ContourPlot[{Uc[x1, x2] == 3, Uc[x1,x2] == 5, Uc[x1,x2] == 7},
{x1,0,5}, {x2,0,5}, ContourStyle->{Red, Red, Red},

Axes — True,

AxesLabel->{Subscript|z, 1], Subscript|[z, 2]}, Frame — False]
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Ud[x1.,x2.]:=x1"2 + x22

ContourPlot[{Ud[x1, x2] == 5, Ud[x1,x2] == 10, Ud[x1,x2] == 17},
{x1,0,5}, {x2,0,5}, ContourStyle->{Red, Red, Red},

Axes — True,

AxesLabel->{Subscript|z, 1], Subscript|z, 2]}, Frame — False]



Solve[4 == —(1/4) 1+ b, b]

{{e— 41}

Solve[Sqrt[17/2] == —1 % Sqrt[17/2] + b, b
{{t = v34}}

Solve[l == —4 %4+ b,b]

{{o —17}}

ContourPlot[{Ud[x1, x2] == 17,

x2==— (1/4) *x1 + LI ,x2== — 1 xx1 + V34, x2== — 4 xx1 + 17},
{x1,0,5}, {x2, 0,5}, ContourStyle->{Red, Black, Black, Black},

Axes — True,

AxesLabel->{Subscript|z, 1], Subscript[z, 2]}, Frame — False]






